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Note : Four possible answers A, B, C and D to each question are given. The choice which you

think is correct, fill that circle in front of that question with Marker or Pen ink in the answer-book.
Cutting or filling two or more circles will result in zero mark in that question.

Which gas reduces the oxygen carrying capacity of R § 5J7 ﬂ;(:.gu»dl bd u’:'/ TJufﬁu{ff 1 -1
haemoglobin: P

Ammonia . k1 (B) Nitrogen s FlimA)

Carbon dioxide 4#\/1315.2/6 (D) Carbon monoxide 4157 (C)

Which one is reabsorbed in descending limb = Use e 26 o < dt Jﬁ Jlg é d/ &8 I |2
of loop of Henle . P . ’
Urea L.y (D) Salts «.‘:LL’ (C) Glucose ¥ (B) Water J{ (A)

Which of the following separates middle ear from inner ear - q'.t'/’;ﬁ.l.‘a:..c) KK Qs ode o] 3

Cochlea L¥¥ (D)  Oval window sks s (C)  Ear drum (25 A(BY Stapes U (A)
How many bones are present in both hands collectively - q s (fr i § Uis 32y Ut uf‘"; U |4
80 (D) 126 (C) 54..(B) 33 (A)
f /.:} i ': ) L

found in corals : P 3b JL ;_»P,E%v.; J/ L)’ ,// 9 Zr:( 5-1
: tion is found | : < BV W o
Which type of repéozl:j?ng <) (8) Fragmentation wﬂu}..f.ﬁu A (A)
u 2 # : = y &l . C)
i 5 Fodk B fission S (
Sexual reproduction L-/”/;.,Ur'; (D) inary r ?fj -

—— 5 B 0u u):r JH OV
Uterus of sabbit is divided into which two separate parts . & Jn‘(fyj u.:?l.f > J - (A)
g - 3
Horns 4 (D) Uterd&wall 185072 (C) Birth canal LJL'-J.:}”;/ (B). ,. Cervix U);/' e
; i L €& oy bl = s
i ing i i thesis : = & : 4 "
hich of the following is proteinsyn . s - u«_"-@* -
. v 4D) Mutation /=% (C)  Translation J’-p’/ (B) Duplication 5 (A)

Replication /™ = ; ‘f’é Ly
P # » = . P n )7 L ‘ﬁ y
What will be gheyblogdjaroup of a : € x .._.,J K w2y SO LY
person which,has noantigen present in his blood : o (D) 8 (C) AB (B) A (A)

: B L3 Y eidhy sl S2s[9
Termites and protozoan have which symbiotic relationship : ‘-2~ U ¥ U o £ 'J” ;PJ[(A)
Predation 24, (D) Mutualism 24" (C)  Parasitism (/LI (B) ijm;fisa“S:jr T
redation ¢/~ . ! Y
- . “ 3 t £ L % J
How many tonnes recycling of paper can save 17 trees: W él{ =>4 17( f‘:- '_(, 4 (.51
Four b (D) Three o (C)  Twon (B) One(,—../t ) i
. i e it g L iRy i 2
Enzyme which is used for joining the genes is - e by ;{;"&: - e /JU 2
Liase 70U (D) Amylase 23U (C)  Endonuclease Z%s4! (B)  Lig [ 7
ipase & - ‘ g v
e te S o
Psilocin is obtained from which : . Mol cantus % (A)
Foxglove 56 (D)  Cannabis sativa iz rtf (C)  Mushroom (3~ (B) ac
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Time Allowed : 1.45 hours (‘,/7;2( 2"'}[1 & 1.45 :
Maximum Karks : 48 ( PART-1 Jjl ) a8 : A F
10 2. Write short answers to any Five (5) questions : . o O 4 /""Z.aﬂlr (5) é& & J)/ -2

(i) Write the effects of smoking on circulatory system. -é ;f“ el L _ﬁ’r" 2 (»./ d}r.’i} ()
(ii) How respiratory centre controls breathing rate? < t) d,/'.f d_,, f A J J e (i)

(iii) What are pleural membranes? Write their function. _".i: ,/f“ J’, ¥ oSt Lf ﬁ/ ik (iii)
(iv) What are leading causes of kidney failure? o § o =l S S ik x # L dnd (iv)
(v) What problems may arise after kidney transplant? . S £ x J/i./ e o AL *..‘.r'tkjl} d.f-( (v)
(Vi) Why eyes of cat shine at night? St Cg u:.:'/ el u.;“’(l’ J dﬂ (vi)
(vii) How levels of calcium in blood are regulated?S< [l Lt 046} LA ;_/ e JMJ s (vii)
(viii) Compare receptors and’effectors. _ _g‘f-: Sl KA s A, (vili)
10 3. Write short answers to any Five (5) questions : af o1 4 ;’Z:.-mr (5) ég o Jf -3

(i) Why is the human skeleton ~ S l_cr A2 S J: L ‘.‘.:‘;.t‘lfU?fo.‘/rlb'iuﬁugfv‘iglgim dUI (i)
considered a living system and what are some of its essential components?

(ii) Why is the progesterone hormone crucial for bone %< dzsﬂu‘{ ur,;u,ﬂ,{éé ok J Iyt 1# (i)
health in females?

(iii) Define semen. Ty N S (1)

(iv) What is the reason of success of seed plants? ?':'—- (! e d/ L}k‘( J Uy L& (iv)

(v) What are homologous chromosomes? Sur &x gf /"r‘n/ u"jjfn v)

(vi) How does DNA work? e WK LA U7 (DNA) <t f 63 (vi)

(vii) Define incomplete dominance. Give an example. -é:df’# fe Sr u’%ﬂu’ E (vii)

(viii) What is the theory of special creation? e I3 ._,/5’. § G ¢ (vii)
10 4. Write short answers to any FIVE,(5) questions : : é@tlﬁ/"”é.&.mf (5) ék = Jf -4

(i) How modification in industrial ?%D:igy/dxﬁ'&)’ﬂgﬁ)’ TJMZ.)&)?’JU»LMWLbﬁLUW 0]

effluents helps in control of air poliution?

(i) Differentiate the ecosystem and biosphere. -._'é 9 A /?“’ AL (‘L/ (Y (ii)
(iii) How smog is formed? ‘e 6* (“i, S (iii)
(iv) Write down symptoms of dengue fever. & e J plts 06"5 (iv)
(V) What is importéhice of biotechnology in agriculture?  fe w4/ s S G oy Lt & L el (v)
(vi) What is meantiby continuous fermentation? Y slp l,.f & u"f‘? (vi)

(vii) Fofwhich infections tetracyclines are used? - Yy th J Je ﬁﬁl/lk.: % L /‘L-C"J ur (vii)
(viii) What isithe difference between antiseptics and antibiotics? “‘.‘c.J/l{g}f u‘qf[,é*”l 2 u’g{(}:‘l (viii)
( PART-1I (2 )

Note : Attempt any TWO questions. -é’ O] 4 Lty » Jf JOT
4 5. (a) Explain the osmoregulatory function of kidney. & o ol r¥ d/‘t’:{;ﬁl § ) ()5

5 (b) Describe the structure and _g‘,:r f J""’ Tk LP 2! “é Uk JUF =3 d/ dé (...-«)

function of bone with its labelled diagram.
4 6. (a) Describe negative feed back  -<& 1% iy 45 e e g L L-;f W cf-’ﬂl (<) -6

mechanism with reference to insulin and glucagon.

5 Foktatend e g FeA O

(b) Define binary fission. Describe it in amoeba with labelled diagram. :
4 7. (@) Write basic steps of genetic engineering. -g{:’ 27 gfl/ $3]% L L% e (L) .7
5 (b) Write major categories of addictive drugs. -"é Vi d (’.3’ Sz J bl T3 ()

215-024-11-(Essay Type)-60000




